Review for Test #5
4,.5-4,7

Find the following for each given equation.
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Provide the following information, then sketch the graph.
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Write the equatlons for the following graphs l ¢
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Determine the exact value of each expression,
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Use a calculator to evaluate the expression. Round to the nearest hundr'edTh
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Round answers to mﬂﬁﬁm decimal places.

38.  Aweight attached to the end of a long spring is bouncing up and down. As it bounces, its
distance from the floor varies sinusoidally with time. You start a stopwatch. When the
stopwatch reads .9 seconds, the weight first reaches a low point 12 cm above the floor. The
next high point, 42 ¢ above the ffoor occurs at 2.5 seconds.
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a. Whrite an equation expr'essmg distance from the floor in terms of the number of séconds the

stopwatch reads.
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b. Predict the distance from the floor when the stopwatch reads 13.6 seconds?
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c. At what time will the spring be 24 em for the third time? [2 q 03 ﬁ}'em'\ck ?

39. A waterwheel with a radius of 12 feet is positioned so that its center is 3 feet above the
water. The waterwheel rotates at 4 revolutions per minute. You start your stopwatch. Three

seconds later, Point P on the rim is at its greatest helghT Lo
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a. Write an equation assuming y varies sinusoidally with t, where y is the distance of point P from
the surface of the water in terms of the number of t seconds that the stopwatch reads.
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b. What distance from the water will point P be after 23 seconds?
B £t = 3feel under water )

c. What time will the point on the wheel enter the water for the second time?

272,253 Seconds [







